[ Efficiency vs vertpos |

-
o
o
(]
>
»
>
>
o
c
[

)
=
)

Ratio

DQ
DQ
Efficiend —— B3

N
=
[
>
%
>
>

o
e
Q

ettici

Ratio

0.2

0.18F : :
O L R I

e s

0.428 b T
1% SR Jf
0.08F -+ e S S
0.06’—----------?----+ ----- ------------- ------------

2:2‘;;:%:@%% ......... ol

0.95"

1072 107 1

10 0?
TP vertr (cr%)

MKEI_TT1original
mkFit_ TTNEWHS
mKkFit_TTNEWHS-dpdq
mkFit TTNEWHS-chi2

<4

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05
10

G20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

[
>
>

[S]
c

efticie

Ratio

0.2

0.18F
0.16F
0.14F
0.12f

0.1
0.08
0.06)
0.04

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


